


-ידי לע םכוס
יול יאורלא

3 11/24

· 1 ke zo2n zal 1 he 2015 /120 - Tay 1160 : Nix-on)'Yo 17416d

1 ke 2015 /1126

Esteg



-ידי לע םכוס
יול יאורלא

1 .

IC. & fix 16Si . -Jian Se6 on Nala 16/Sl &ONd /N
& 3 14 180km22662'x >Re

: 1211) y Ido N & is ROM pr S'96 6 0

3 = 2
ve

V = &X_ 180GOk

Go

V =

60km/n = 3 . 6
= 16 . 66 us

Da

clod) i m& fish Sa , pr ven & Sing 5 e. Mer
-

* N1Ny New id & MIN ·N60 2 . 5 11 an 180

X gold " Nikd Tak in 180-mid NK x #2018 And
-ind , pr . Mid & NO &I a S EN Dyed usi Mindi

,

-3INN Mind Moli 001cNivag in xSk/

AX

V =

St

V =

Goin

x603(i) /S ,
Ax = 180 km

Esteg



-ידי לע םכוס
יול יאורלא

Z. AX

Vmp = It
= 90 im =

90 kml

2 .

I - 60 km/ha B ==

i-

1) n') ) 31
. /1st E & 60 N Ndixi his 's Med & Mini

↓ (2) n ynil sk ja 60 in Ind 16 de I' lear
NidMi - I'd /18 /Illini

6.I ein go & 63ind nd ,< wood & Nama Sin 10&n

· d 60 i NIN/1 /I ) &9

· 10 "Kindi 10 Ja Nif Din pfl Upi =

90 km/h &Ond

Go - -x)dx/n/x 16 6x Net din , 60 BIN/Dd/ go-d 021513) :
12) ' 60xx Midd 16 02 vi , S/Sa . Bidd 01229, /S152)

. 6012211005 xin God 184-1 go-d <1x65

mp =

90kw/n Upk = 60 km/n

&X = 90 km AX = 90 km

V =

60km/n

V = 60km/m
, AX = 180 km

Esteg



-ידי לע םכוס
יול יאורלא

1 No 2021 /les

Esteg



-ידי לע םכוס
יול יאורלא

1 .

12
.

· DIR Ni DIXa /1160 An E

.fe wil fidd /
"300 i E

·K odide Gand Pane la NN 131142 /11s

: 'n XIS &

di Ill +2) - MidO <Nk ecdidd Gand In ,pr , xidled 20)
·
Mine +x3117x 19

inf to : pl fu is wind

: x /Sk

431175 , pl /inde uk again and pri wind anal Nide was
&I N&

·
& 131 1) llUn X- Y li es NeM

,pr

Da

a = 2 m/s

V = Vo + at

Vo = + 30 m/s
0 = 30 - 2 . t

t = 2

t = 155

V = 0
mys

Z .

X = Xo + Vot + Eat

X = 0 + 30 . 15 - 2 . 2 . 152 = 225m x238)///1/x36)1x4N/4
· A x5

Esteg



-ידי לע םכוס
יול יאורלא

2.

Mina an pind n MIN Md d& N

V = Vo + at

V = 0 + 3 - 10 = 30m/

V = 0
my

V = Vo + at

Vo = 30 mis

0 = 30 + a - 5

t = 5,
G = 6 mist

a = 2

36 Mid M'Ox
Vo = 30 mys & git w kd + 36/ Vo = O

-1) xJ') &

* 5
V =

- 30m/

H

225m

x1)e10

wind Sai
x)e15

-101018/x

i .

· Rox ak col Sin &N

· (x) 10&n Sx1 = 225m : ' XSK &

: 1101774 Mix : 'S X1 /
AXz = 2

v
= V =

+ 2a(X - Xo)

V =

30ms

(- 302 = 02 + 2 . (- 3) . AX
t = 10

a =
- 3 mys -Xz = 150m

Vo = Oms

Esteg



-ידי לע םכוס
יול יאורלא

: Yen Nex
AX3 = ?

V= (2 + za(X - Xo)

Vo =
- 30 mys

02 = ( -302 + 2 . 6 - AX3
a = 6 mysz

V = Omis & X3
= 75 m

:AB Fin Nda

AXAB = AX1 + AXz + AX3

=

225 + 150 + 75 = 458m

I
.

VIMs)
M

30

iai Blkx-ed' in

a = -

2 mys]

' , /

10 15
> t(s)

0=G mys
?

a = - 3 mys

- 38

iJiXp 1315-ce' IN

>y

Esteg



-ידי לע םכוס
Estegיול יאורלא


